Numbers and Operations

1) Complete this
multiplication table

5|6 (7 |3

11

Wl N[ O] OfX

2) State the value of
the underlined digit.

a) 4583

b) 2430675

3) Arrange these
numbers in ascending
order.
a)2,71,283,395,0

b) 427 , 155, 7226 , 9

4) Evaluate
a) 3x1000 + 7x10
+ 6

b) 4x 10 + 8x 1000
+7 + 2x100

c) 3x 1000 + 8
+ 7x10 + 5x 100

5) Plot these points on
the number line.
a 1,3

b) 1,0,5

6)a) 23+ 11 =
b) 13+8 =

C) 16 + 13 =
d 59+121-=
e) 22+42 =

f) 18+ 9 =

level 1(d)

7)a) 35+5=
b) 90=+10=
c) 63=+7 =
d 36+9 =
8)a) 22-11 =
b) 23-5 =
c) 38-30 =
d 60-21 =

9)a) (6+2)x3 =
b) (7-4)x5 =
c) 30-5x5 =
d) 4+3x5 =

e) 6x5+1 =

) 3Ix(O+2) =
g 6+3)x(2+1)

h) 40 = (2x5) =
) 40+2x5 =
) 4+6x2 =

10) Convert 89 to
Roman numerals.



